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SA SETARA
A MLCARB
Sol AEE #5(42E2IY) EERED
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
O0|YH AMXAYE =2 DM Z2A
50,000,000 * 1= 50,000
OYUS AR XoI2SEA 24
20,000,000 * 1= 20,000
OMSES AL Ko2S XA 29
20,000,000 * 1= 20,000
OZAH AL XoI2S XA 299
20,000,000 * 1= 20,000
ONAMELMNA 422 GBS EA
=49 50,000,000 * 1= 50,000
Het XA LE Haz2gaad 1= 500,000 0 500,000
= 350,000
= 150,000
401 A& HI L 204 HI 500,000 0 500,000
= 350,000
= 150,000
01 Al&H| 500,000 0 500,000
O a2 gia23Y 25
500,000,000& = 1A 500,000
= 350,000
= 150,000
HL0e AN 1,400,000 0 1,400,000
401 A& HI L 204 HI 1,400,000 0 1,400,000
01 Al&H| 1,400,000 0 1,400,000
M08k CHEH ALY 1,000,000, 000 = 14! 1,000,000
OAEH & “FAIE EH|
400,000,000 = 14! 400,000
M2 (MEEZEI|Y) 228,400 185,900 42,500
MALEE Q2N £ 228,400 185,900 42,500
201 gBt2A | 228,400 185,900 42,500
01 AP 2t 2| H| 84,940 64,760 20,180
Olger24] 54,932
OZglyH EH ¢ 300,000& = 50 = 23| 3,000
OZegly =44 100,000 * 4CH * 33| 1,200
OAE2E DXA i & =&
1602 * 20,00008f * 12& 38,400
oMge= 1DXNA X Q!
110,0008 = 12tA « 8& 880
O£ Q2 EE EdIIE MY
70,000 * 1200 A 840
OLNXM &858 85 22H|
802 = 18,0000 * 23| 2,880
O HEI HEIE 22 HMEH
200 * 17,0000H 3,400




2N
X ZH -
L= B

el

0 0z 4
1 4 0

1]

cl
',

H1H =
0 > 1
0 4 b
0r

[
=

0B

1)

A
.

- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
OxER22 XNsS0IM & 243X otUl AE
21 Ml &gl 500 * 2,0000H = 2= 2,000
OHEI ESHA =42 2,332
o 50mm Ol &t 185,000& = 53| 925
o 51mm ~ 80mm 218,000 = 33| 654
o 81mm O] &t 251,000& * 33| 753
OJelAaE 253 Z0a8 A 9y 01E
9,900,000& = 1A 9,900
O+ 22 DBAIAE JIMS MHOIE S
7,000,000& = 1A 7,000
OlXa+=428] 13,108
OMERX $SMNYE SI| 52 +42
2,480 * 35024 868
OFER2 NSO0IM 3 =22
130,000& = 18/ & = 128 1,560
O2E8ZMY =522 ASO0IH =2
502 x 13,0004 » 12€ 7,800
O&dlx=E 22 JIAAHE A =82
80& = 3,000 = 128 2,880
02 Z2=2=2494| 143,460 121,140 22,320
OlZZ222LHA] 124,980
O0R= 1IXAN &5 2H 2
80 x 20,000 * 12& 91,200
OS2 1IXA S RER2
2,480& x 708 * 12&8 2,084
O &EIIZ2 OIAE =& d AEXZAF S)IREE
2,480 * 50 * 43| 496
ORIgHe g2 M3)| 22
150,000& * 128 1,800
OM4ET FAALHE SMRE
700€ * 3,500& ~12&€ 29,400
O[ANAEZH KXY 18,480
ORI Z2 08 A ESH
1,080,000 * 12& 12,960
o= T2 AH X234
210,000& ~ 12€ 2,520
OIMOIAE a5 T20& AH |SA B
Hl 200,000& ~ 12€ 2,400
O QA CCTV AMtE= 50,000& * 12€ 600
OlHIHl (A=E2D|Y) 40,000 40,000 0
ol g1 4] 40,000 40,000 0
801 oyl dl 40,000 40,000 0
01 L Btal gl gl 40,000 40,000 0
OO0l (Ah4=5 AP0l AH)
20,000,000 = 14! 20,000




2A 2T A A
HE: AT ASDR
o2l olbiel (A== 301Y) (e &)
_ _ _ SHE|
A FB B (EN) - HRAY - BES 0l &t o il HImEET
OOllHIHI (A2 S XH20Hl AH)
20,000,0008 * 1Al 20,000
st 2e 20,518,311 24,584,166 A4,065,855
= 10,520,000
7| 486,932
[= 193,000
2 9,318,379
HleEox e (da=E20Y) 278,089 134,723 143,366
4oz 292 278,089 134,723 143,366
201 LBt 275,689 132,323 143,366
02 2229 275,689 130,535 145,154
O[A & &Y XY 99,119
OUEM=TIH ZHDI S XA/
2,810,000€ * 100 A 2,810
OEIZR S22/l 5,000,0008 = 8CH 40,000
OUEH+HIH HASMIE X 22
15,500,0002 * 2CH 31,000
OUEH+HERE HE KX
5,000 * 3,782 18,910
OHH+EHIZE2 22 1 426,6008 » 1558 6,399
Olsayl] 176,570
OUEHLEINY MIIQ2(1DY)
10,000,0002 * 12¢ 120,000
OUEHLEHIY MIIQS(MY)
2,340,00090 * 128 28,080
OHHLEHIN HAZE) H2RA(IR)
1,424 .52 * 20,0004 28,490
202 04| 2,400 2,400 0
01 2ol 2,400 2,400 0
OUE W2EHIXN A2 S22 ol
20,0009 * 201 x 52 » 12¢ 2,400
StMel® 2g2el(stE201Y) 5,396,607 5,444,805 A48,198
e Z2Rst+HelAle 2gae 535,500 201,000 334,500
401 Al HIZ 200 516,000 201,000 315,000
01 Al&HI 516,000 201,000 315,000
OUEdt$Mela AHEH ZA
300,000,000 = 1Al 300,000
OUEd$HRlE 225 MIIZA
30,000,0008 * 1Al 30,000
OUE AKX +ZHIZT DHSA
89,000,0002 * 14l 89,000
OUE 1 BAK M2k BI 2 ESHH
WH 2 A 27,000,0002 * 1Al 27,000
OE M282X 2es H5E 20
12,500,0002 * 4CH 50,000
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SA SETARA
NI Gl 22
ool stHElE YRR (AERIIY) CERED
SN ED B (3H) - MEAY - BAS Ol &F o4 ﬁlgﬁ HDZ2
Ol 2= Mol BT DAHZA
20,000,000 * 14! 20,000
405 XHA&HF S HI 19,500 0 19,500
01 XA 2 ZF S H| 19,500 0 19,500
OU=SotE=HelAlE deetd 2
4,500,000€ = 404 18,000
OUEdts=HXMelAld =& TMISE W& P2
1,500,000& = 1CH 1,500
otx=Xeld 292 4,861,107 4,149,805 711,302
201 et d| 4,273,494 3,691,952 581,542
01 AP 2t 2| H| 1,771,884 782,588 989,296
OAMNREEE FH| 20,000 * 22091 = 33| 1,320
Odt=XelAld FAZ2e 25 #¢
50,000& x 8% = 103/ 4,000
OYes HEEML L JsHE 7Y
100,000 * 10= 1,000
OXel& ot E22 M24d|l 500,000 = 35 1,500
Odt=HXHelAld des s
42 000 = 12&€ 504
Odte=HXHelAlE Ty Y Z2AD A2
300,000& * 3CH * 3IHA 2,700
OQdl=XHelAE &Sk 24|
3,000,000& * 504 *« 18] 15,000
Odt=HXMelAlE MHolExr =224
700,000€ * 10 * 48] 2,800
Odt=HelAld 25 A AHH]
2,000,000 = 504 A 10,000
Odt=HXMelAlE XNIISE &2 24|
8,070,000& * 504 + 12€ 484,200
Og&EId 2= 9,000,000& = 1A 9,000
O3del Al A Al 100,000 = 1201 = 13 1,200
Ot gE)|] AAH| 100,000& = 8CH = 13| 800
OH&EI|A&Hl HIl& A 5,000
ogg 2,000,000& = 13 2,000
os 3,000,000& = 13| 3,000
OZAIIMA AF2AIE HIIAAHI(HE)
400,000 * 13| 400
OWH2] TMS & & & AbHI 3,000,000& = 13 3,000
OAZAIE THOI=2A =FHAAHI(THE)
6,000,000& = 13 6,000
OAZAAE HES EF RS2 TAHUE)
2,000,000& = 43| 8,000
Qot=HEIAE MESAH FAH(Z2Y, UHE)
1,000,000& * 20HA = 128 24,000
Odtx=Hel & EEAH A 5,000,000 = 14! 5,000




SA SETARA
NI Gl 22
el StANelE 2Rl (BEETIIY) (ol @)
(o
S EH B (BH) - MBAY - BAS Ol At o %@ﬁ HRE2
OUEstEH2IAIE D] RIS ZH 24|
5,700,000& = 203] 114,000
Obdle=XMelAld SEH 2 WA
1,000,000& = 70 = 3004 21,000
OA2AE HE AHAHH| 3,000,000& = 13| 3,000
O&J|etA 2te| ety 37,200
o 1,300,000 * 12& 15,600
o= 1,200,000& * 12& 14,400
O HHS 200,000 = 3HA + 12& 7,200
OAgorXd z2te| ety 9,600
oOgd, U= 800,000& * 12€ 9,600
OZFHETLE SRoABAAL ST 221(HE)
350,0008 ~ 12€ 4,200
Octadlx=HelAlE 2te|f&]
400,000,000 = 14! 400,000
OAR2(0DIS)otE=MEI AL 22|yl
300,240,000& = 1Al 300,240
OZ%=Z& TNS SXl&2| tfatiy|
4,085,000 « 504 « 12€ 245,100
OW2l TMS Xl 22| tH&dh]
3,750,000& ~ 12€ 45,000
O[fIgs £¢] 2,720
OXUD MRS ML
80,000 = 321 = 33| 720
O2AZE Mol9is BHLY
80,000 = 5021 = 53] 2,000
O[fFE REH|] 4,400
OdtE=HMel& 2 ¥ NS ED=H|
400,000& = 11¢@! 4,400
02 2224 H| 2,501,610 2,909, 364 N407,754
Qa4+ AME2as 58,800
oge, E2dltx=HelAl&
4,500,000& = 12€ 54,000
O HHB =Ml AIE
100,000 = 404 = 12€ 4,800
OoHW dEa3H AIEE 36,600
OgdstExelAldE & SHEZA
900,0008 * 12& 10,800
OUZcteHMelANE & SH H=Z &
900,000&  12& 10,800
ON=6tEXelAlE & SHEEA
300,0008 = 12& 3,600
O ZAotEXelAE & SHEZA
400,000& = 12&€ 4,800
O stitote=HelAldE & SHE A
150,000& * 128 1,800




SA SETARA
HE: o4E 2el
©el: dteXMeld 22l (dt=E=301g) (Sl & &)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OARIot=XElAld & SHEZZE
400,000& = 12& 4,800
Odt=HMelAld S3MYSE It
800,000& =« 14 800
Oaxgtordzte] &3aldl 48,0008 = 32 « 13 144
Od&Jletd2tel gsldl 100,0008 = 321 « 12/ 300
Ost=XelAlE HIISxde 2E3
60,000,000& = 13l 60,000
O[AI& &bl 2 XHl]-TMS= Xl 2 el 52,000
O=& TMS 42,000
o=& TMS RXl2cl 3 WAl
8,400,000 * 504 42,000
O OholI TMS 10,000
o LIl TS RXIBE £E DAY
10,000,000& * 14 10,000
O[AM&E&Hl S Xl 1,048,258
OosdX ¥ &S Mol 72,000
o Zg 400,000 = 5& = 12& 24,000
o2 400,000& = 5& ~ 12& 24,000
o Bt 400,000 = 5& = 12& 24,000
Odt+=HMelAd Jisdd 89 (0=,2M,. %
I23%,88) 34,270,000& * 40 A& 137,080
OCH+HMRIAIE %43IsVE S (HE, TA
) 29,389,000& * 204 58,778
OGt+H2ANE AL ZIIGHEY 8
4,000,000& » 502 = 23] 40,000
OGt+H2IAE HUSHBASA (I, HE,
A=) 29,000,000& * 30 A& 87,000
O [Zdt=] 262,895
odt=HMelE A= FX2cl ¥ E=H
5,000& = 2,869m 14,345
odt=HMelE REXNEE & HNE=HHS FX
=2/l 6,750,000& = 13l 6,750
o FYotrHMelE XE+ HAl2aldl
5,000,000 = 1JH 4 5,000
o Zx® w2l ¥ B4 48,000
-EQAE BOR 2,000,000& = 504 10,000
-RYsS RYED 10,000,000& = 204 20,000
-€0l8 BER 5,000,000& = 2CH 10,000
=Xl OISEEZR 1,000,000& * 8CH 8,000
o ABFE ANEL2 |X2clH ¥ B4l 103,000
- AMX &Hl 10,000,000& * 1JH 2 10,000
-HEAHON KX2e
2,000,000& * 50 £ 10,000
&3 Al 10,000,000 * 200 £ 20,000
-x &K £H  5,000,000& * 3L 15,000
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SH: S
X xH - SLA
Gt oie SYB2 (G4 E3IY) EEREED
SA BB (S) - MRAY - BAS 0l &k o4 il Hl DS 2
-SEX & 5,000,000& * 2JH A 10,000
40 2 RO |X2e
1,000,000 = 8CH 8,000
-SQUXAE 15,000,000& = 100 15,000
~AS4H D DA
1,000,000 = 100H & 10,000
-0{ Bt &H| 5,000,000& = 1JHz2x 5,000
EST 490 |2 % 24
2,000,000& =+ 6CH 12,000
Hel® Sl 2 |NRel ¥ 2o
5,000,000& = 12 5,000
HiagdI| 2=l 2,000,000& =+ 1CH 2,000
dsdS P4y 800,000& * 6CH 4,800
22 CCTV ZALEH =A2e & 244l
3,000,000 =+ 14l 3,000
JIHEHl |Xl2e2ldl  100,0008 * 705 7,000
SII&Hl S22t 200,0008 * 205 4,000
UPS= Xl 2t el dl 1,000,000 = 3CH 3,000
HHA HU SXBE Y B4l
15,000,000& * 1JH & 15,000
SgENAY R L 24U
10,000,000& * 10H A 10,000
M2Z H=ZI MA DA
2,500,000& * 4& 10,000
BOAL HENSSYTI RN
24l 10,000,000& * 14 10,000
O [tHE35t=] 390,505
HEstaHel® A2 Nz L 244l
5,000& = 8,541m 42,705
S4H2IE £X MEXNY S |2
6,750,000& =+ 23l 13,500
S4MEIE XP4 RN
6,000,000& = 23l 12,000
QABNBITZ A2 SN2 L L4
700,000& * 30H A 2,100
MK TOIE4 BSWD 24
10,000,000& = 1JH A 10,000
RS RYHI R4
10,000,000& = 404 40,000
URC =Xl 2tel 3,000,000 = 20 6,000
REHNE KAL)
3,000,000 = 20 <& 6,000
ATHE AL SN2 L 22| 23,000
-& ALXlI & HI 5,000,000& = 202 10,000
~HEWO RXe
3,000,000 » 1004 £ 30,000
-2 SE AKX &dl 7,000,000& * 404 A 28,000
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SH AEAYA
g otk 2
el StANelE 2Rl (BEETIIY) (ol @)
= _ — d =
A FB B (EN) - HRAY - BES 0l &t o il HImEET
-sE X4 15,000,000& * 200 £ 30,000
~240| 2 RHiaY |RXz
5,000,000& = 4CH 20,000
-0 & Hl 5,000,000 * 10H 4 5,000
o X8I =2 wX&el ¥ E=4l
2,000,000& = 10CH 20,000
o Mel& £Hl & |A2el ¥ 24
5,000,000& = 23| 10,000
o NAXt, s&&020 mX2el
1,200,000& * 10OH 1,200
o MelE SO0IAE KA ¥ Sl
300,000& = 20004 = 1/3 2,000
o JIA&Hl KX&ecldl 500,000& * 30& 15,000
o &dJI&Hl sXl&cldl  800,000& * 205 16,000
o SHEZZY S4FH wX2aldl
500,000& * 2601 A& 13,000
o CCTV | X2 2ltl 200,000& * 3042 6,000
o MIHMEMAH K22l
4,000,000& * 442 16,000
o UPS & Xl 22ldl 1,000,000& * 5JH & 5,000
o ZIEZBHEX ANSHELH MEZE wXH
1,500,000& = 4CH 6,000
o HIZZE =4l 2,500,000& =« 103l 25,000
OLZAIE S EH] 118,000
O3JIZ=D 223 & 22 WA
4,000,000 = 43| 16,000
OsdXl OI&EIZ ==clHl
5,000,000& =+ 2CH 10,000
ORQUESI 28X ME £ &X
5,000,000& = 1CH 5,000
OA2E AAWUEAI| WEH WA
25,000,000& = 13 25,000
O=&J €M sX el 1,500,000 * 43| 6,000
OA2=z2 2 M A WA 5,000,000& = 104 5,000
OF2HM =&EX= WH  2,500,000& = 2CH 5,000
OEZXZHUY ¥ dAHUY Sz
10,000,000& * 14 10,000
OHZELe M= 5,000,000& = 14l 5,000
Oa2ANE =2 WA
5,000,000& = 14l 5,000
OAANWLEAI ZHcel ¢ WH
1,500,000& = 208 *23 6,000
OAZA4d RXZel A € JIAHS 2
2,500,000& = 63l 15,000
ORPF Ol&£Hl B 5,000,000& = 13l 5,000
O[AlZ & Hl 2 XIHl]--0t2 106,400
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SA SETARA
g otk 2
el StANelE 2Rl (BEETIIY) (ol @)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OJIA&H |X&el ¥ B4l
500,000& * 360 2 18,000
ouHE=Z |sXZel ¥ B4l
100,000& * 100CH 10,000
OASEH & |REAH K222 & 2=
400,000& 360 2 14,400
odJIlEY |XZel ¥ Bt
500,000& * 369 2 18,000
O7s4H |XZel ¥ B4l
1,000,000& * 369H £ 36,000
OASJ| &Hl E= 1,000,000& = 109H & 10,000
ONEEHRXH]--4= 47,650
OJIAH&H |XZel ¥ B4l 22,000
o €X ®X2cldl
3,000,000 = 20CH = 1/6 10,000
o €=J ®X&cldl 4,000,000& = 1CH 4,000
o 527 wX2aldl 4,000,000& =+ 2CH 8,000
OAEZH ®X&el ¥ 24l
735,000& = 20CH 14,700
oOd=s SHEBEZE mAac € 2=l
300,000& = 24CH 7,200
O &JI&Hl sXl&cltl
62,500& * 208 = 33/ 3,750
O[Al & ZHl 2 XIHl -84t 43,150
OJIAH&H sX2el ¥ 24| 22,000
o BZ sX&eldl
3,000,000& * 20CH * 1/6 10,000
o &=J ®Xl&eldl 4,000,000& * 1CH 4,000
o £3J =X &cldl 4,000,000& =« 2CH 8,000
OA=ZH ®sXZel ¥ Bt
700,000& =« 6CH 4,200
Ostdt SHEEZE A2l ¥ 24|
300,000& = 1404 4,200
oA =ZHFHSAIE KX 2l
9,000,000& = 14 9,000
O &JI&H =X 22l
62,5003 * 208 * 33l 3,750
O[M&FEBISXElI]-2A 37,850
OJIAHAH ®X&el ¥ 24| 22,000
o X mX2aldl
3,000,000& * 20CH * 1/6 10,000
o €=J| ®X2alyl 4,000,000& =+ 1CH 4,000
o £3J =X &yl 4,000,000& = 20H 8,000
OA=ZH ®wXZel ¥ 2=l
700,000& = 6CH 4,200
O=ZAN SHEBEZZ ml2el ¥ Z=H|
300,000& = 280H 8,400
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o o 4
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ol
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9

s
o P

o
02
Mo
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ol

el (

_ _ _ SHE|
SN EB S (3H) - NBAY - B2 ofl &t o e
O MII&Hl KX 22l
65,0002 * 10& * 53 3,250
OleZHl - 28] 3,279
OHAZAI A2 HI(F)
1,424 521 = 804 * 10AI2+ 1,140
OHIAZHE) HI2HI(MS)
1,424 521 = 504 * 10AI2+ 713
O HIAF&ADJ| A2 H|(8HaH)
1,424 521 = 504 * 10AI2+ 713
OHIAZAI HAZHI(ZAM)
1,424.521 = 504 * 10AI2+ 713
OleaHl - Jtsg) 2,443
OSAUAH HIH(YY)
1,628.124 * 104 * 152 * 204 489
OSHUAH HZH(HE)
1,628.194 * 400 = 30 1,954
OlsHl] 885,936
O¥e Gt:HMel®E HIe2
7,500,0002 * 122 90,000
oHeE st:Mel® dIe2
55,000,000 * 62 330,000
OE LESHLZH MRS
11,000,0002 * 122 132,000
OMEG2HLAYE HIR2
2,700,000 * 12¥ 32,400
OMNESHEIN M)
75,0009 * 1204 « 129 10,800
OStMGtaHElAlE HIIR2
3,000,000 * 129 36,000
OSMEHBEIR MI|Q2
180,000 * 8 A * 12¥ 17,280
ORAMetaHE ALY HIIR2
5,500,0002 * 122 66,000
OZRNEHEHIZE MIQ2
105,0002 * 10004 * 122 12,600
ONtSstaHelAlE HMIIR2
250,0002 * 370 A » 12€ 111,000
ONI25ts SHEHZH MIR2
68,0002 * 2104 * 129 17,136
OUE ALUAA BXAZ2 22 (LNG)
64021 * 4,000 * 122 30,720
202 04l 34,800 34,800
01 2ol 34,800 34,800
Ot elAld JREE 0|
20,0002 * 401 » 102 * 122 9,600
OUEst:HMelAld JREE 0
20,0002 * 401 » 102 * 128 9,600

- 22 -




2H: 2T AL
HE: G e
©el: dteXMeld 22l (dt=E=301g)
SA - BB (3) - NRAL - B il
OHERTt=HelAE 2=
20,000& = 321 = 10& * 123 7,200
Odt=HMelAld =23 A ASHH Ot
20,0003 = 2Q! = 10 ~ 123 4,800
Odt+=Xeld 2E2¥ B3 W=E Wl
120,000& = 621 » 5& 3,600
206 M= Hl 196,813 196,813
01 =4l 196,813 196,813
Odt=HMelAld =8 SFZJFHE M=M 2
10,000& = 100€ » 32 3,000
OYeLE o HHI9E 7 (3, HENSS)
400,000& = 23| 800
Oggdt=HMelAld 4ZHl 41,298
(OENE-PAE=FSPN| 5,610& = 6kg * 365¢ 12,286
OLROUMUES 4513 = 110kg * 365¢ 18,108
OC=saZH 6,340& * 200kg 1,268
O S & Ml (PAC) 2203 * 120kg * 3652 9,636
OUEdt==XelAlE 24ZHl 128,488
ORae=z 473,000& * 8& ~* 63l 22,704
O&EA(2EHal) 12,1002 = 2004 2,420
O&HZH 116,600& * 404 4,664
OR=E- D 6,5002 * 10kg * 802 5,200
O WatatA 180& = 200,000kg 36,000
O S & Ml (PAC) 2503 * 230,0004 57,500
Ol eI+ 2l Al ] 7,207
O 2 H (PAC)
2203 * 30kg * 3JHA x 365 7,227
O[tiE3dt= AIEAHFHI] 7,250
OMEA =TI 7
10,0003 = 258 « 23l 500
OAEA Al 10,000& » 758 * 13 750
O 24AINE Al 1,500,000& = 3MIE 4,500
O4ags BTN 2
20,0004 = 258 13l 500
O AEA FHH KXl
50,000& = 20& * 13l 1,000
O[HHA AEHAYI] 8,750
OAEA =XIIF 7L
10,000 * 25& « 23] 500
OAEA Al 10,0003 * 758 = 3 A 2,250
OZ2HINE Al
1,500,000& * 1MIE * 302 4,500
OAMEA BXIXM #&
20,0004 = 258 13l 500
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SA SETARA
M ot 2
el GaH2T 2R (GEEBINY) (S &2)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
OA&EA ZHl sX 22l
50,000& * 208 * 13| 1,000
401 Al HIZ 201 I 240,000 126,000 114,000
01 A& HI 240,000 126,000 114,000
O==Z& TMS T0C =& =FJ| 20 X (LS.t
£,.2AM) 240,000,000& * 14 240,000
405 XHobF S HI 116,000 16,000 100,000
01 HatH ESFH S 116,000 16,000 100,000
Oot=xMcle skl SHEAH(LEEH) 7Y
100,000,000& * 14 100,000
Odt=HelAld 8&8=2 XMal&8 gELA 7Y
8,000,000& = 2CH 16,000
St=2t01 Ul (st+==301¢g) 11,588,601 7,982,638 3,605,963
= 8,246,000
J| 310,904
[ia 3,031,697
St=XMel 2 W ==& &3 At 73,000 78,000 A5,000
201 2et24d] 3,000 8,000 A5,000
01 At 2teltl 3,000 8,000 A5,000
OHHAEHN &8 & ZEE LI EN (AUTOCAD
EST) ¢ 1,000,000 * 3CH 3,000
401 AIEHI L 2 CHYI 70,000 70,000 0
01 A& HI 70,000 70,000 0
Odt=Hel 2 ti==&Hl HE I3 A
70,000& = 1,000m 70,000
LSot=22 FHl 242,000 0 242,000
= 171,000
J| 17,303
[ia 53,697
401 Al HIZ 201 8] 242,000 0 242,000
= 171,000
J| 17,303
e 53,697
01 A& HI 242,000 0 242,000
OL=ot+=22 HHISA 242,000,000& * 14| 242,000
= 171,000
J| 17,303
s 53,697
oS s ot=2=2 HUALY 6,100,000 2,513,000 3,587,000
= 5,200,000
s 900,000
401 AIEHI L 2 0] 6,100,000 2,513,000 3,587,000
= 5,200,000
[ia 900,000
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SA SETARA
HE: o4E 2el
el St ZHl(dt==301Y) (&)
(o
SN BA(SA) - MRAY - BES 0l &t o il HImEET
01 A& HI 5,584,600 2,113,000 3,471,600
O [AI&HI] 5,584,600
O&s =LA ot=22 FUIAY
5,584,600,000& » 1JH2A 5,584,600
= 5,200,000
[ia 384,600
02 2eltl 500,000 400,000 100,000
Ods s+ ot=2= UMY 22l
500,000,000& = 1JH A 500,000
03 Al S THHI 15,400 0 15,400
Otts s2XF o222 HHIAS AIE=R0UYI
5,500,000,000& * 0.28% 15,400
daz del € SXNF ot FHIMG 3,765,554 2,851,291 914,263
= 2,509,000
J| 256,554
[ia 1,000,000
401 AIEHI L 2 CHYI 3,765,554 2,851,291 914,263
= 2,509,000
J| 256,554
[ia 1,000,000
01 A& HI 3,653,554 2,242,291 1,411,263
O [AI&HI] 3,653,554
Odg del ¥ EXF dt=22 FHAY
3,653,554,000& * 10H 4 3,653,554
= 2,509,000
J| 256,554
s 888,000
02 Zeltl 100,000 600,000 A500,000
OgY del & FYXNF o222 HUIAY &
2/l 100,000,000& * 1JH £ 100,000
03 Al SR THHI 12,000 9,000 3,000
OgY gl & YXF ot=22 FHIALY Al
=Rl 3,584,000,000& = 0.33482% 12,000
NS 93X 7 ot=22 HHIAS 453,047 322,347 130,700
= 366,000
Jl| 37,047
s 50,000
TAIEHI 2 453,047 322,347 130,700
= 366,000
J| 37,047
[ia 50,000
01 A& HI 403,047 322,347 80,700
OME E2X7 ot=22 FHAY
403,047,000 = 1002 403,047
= 366,000
J| 37,047
02 Zeltl 50,000 0 50,000
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SA SETARA
HE: o4E 2el
¢el:r of=2 HUl(st==201Y) (&)
(o
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
OME E2X7 ot=22 HHIAY Zelbl
50,000,000& * 14l 50,000
L2 o=k ANE=S LHE=SA 100,000 200,000 A 100,000
401 Al& I 28I 100,000 200,000 A 100,000
01 A& tI 100,000 200,000 A100,000
OL= ot=& AE2 DHE=3A
20,000,000& * 50 4 100,000
DISH? S3ot==HMel29 SUHSA 200,000 373,000 A 173,000
401 AIEHIZ 28I 200,000 373,000 A 173,000
01 A& HI 200,000 373,000 A 173,000
Oltstel S3ot==Hel7d =S A
200,000,000& * 1JH A 200,000
A28 ot=% FHIALZ 100,000 100,000 0
401 Al B2 28I 100,000 100,000 0
01 A& HI 100,000 100,000 0
OA1E OI20t=% HHISA
100,000& * 1,000m 100,000
22 FAIAM 100,000 100,000 0
201 L2l 100,000 100,000 0
02 =224l 100,000 100,000 0
o222 =44 4,000,000& * 2504 A& 100,000
LeAZ B ZA 55,000 55,000 0
201 et 55,000 55,000 0
02 =224l 55,000 55,000 0
OLx=z2Z 24| 5,000,000& * 11004 55,000
St=22 D=8 400,000 0 400,000
401 AIEHIZ 28I 400,000 0 400,000
A& HI 400,000 0 400,000
Odt=22 Jisalt 400,000,000& * 14l 400,000
s0E 020X HUAL(dt=E301Y) 3,215,014 4,276,000 A 1,060,986
= 2,274,000
| 176,028
< 193,000
s 571,986
dE ST sHELNS ot=% EHIAY 996,000 953,000 43,000
= 697,000
< 59,000
fia 240,000
401 Al I 28I 996,000 953,000 43,000
= 697,000
S 59,000
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SA SETARA
B slas 22
S sHE 0ISol=% HUAME(BIE=E=2D1¢Y) (2 &HH)
L3
SN ED B (3H) - MEAY - BAS Ol &F o4 ﬁlgﬁ HDZ2
o 240,000
01 Al&H| 890,000 953,000 A 63,000
Odls 2SN+ sHE0I2 =% EHIAE
890,000,000& = 1JH A 890,000
= 697,000
& 59,000
= 134,000
02 2eldl 100,000 0 100,000
ojrl= S sHE0I2 ot HUIAY
j:,’EIHI 100,000,000 * 14! 100,000
03 AlIE 20| 6,000 0 6,000
Otl= 2sSX+?* sHE0I2 ot=& UMY
|"*‘:’EHU| 955,000,000 * 0.6282% 6,000
0 24£X7F =sHE 0ISol=% EHAY 598,000 535,000 63,000
= 459,000
& 39,000
= 100,000
401 AlEHIZL £ 0HY| 598,000 535,000 63,000
= 459,000
& 39,000
= 100,000
01 Al&EH| 543,500 485,000 58,500
O [Al&Yl] 543,500
O0lY 24X sHE0IS ot HUAE
543,500,000& = 1JH 2 543,500
= 459,000
= 39,000
= 45,500
02 2teld| 50,000 50,000 0
Ol 24X7 sHE0I2 ot UMY
22l bl 50,000,000& * 1= 50,000
03 Al 201 Y| 4,500 0 4,500
Oy 24X7 sHE0I2 o= UMY
Al & 2] 655,000,000& * 0.687% 4,500
I 23X3F sHE0ISotE=E B AY 159,014 442,000 A 282,986
= 95,000
J| 56,014
o= 8,000
401 Al HI L 2 0HHI 159,014 442,000 A 282,986
= 95,000
J| 56,014
o 8,000
1 Al&H| 159,014 392,000 A 232,986
O[AI&Hl] 159,014
OEXE SE3XNP? sHE0I2 o= EHI ALY
A A Yl 159,014,000& * 10 A 159,014
= 95,000
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SA SETARA
g otk 2
©el: s0E OtSdt=% FHIMYE(BI==2018) (&)
(o
SN BA(SA) - MRAY - BES 0l &t o il HImEET
Jl 56,014
< 8,000
stab XN AK+ sHEOSot=E EHIAY 920,000 286,000 634,000
= 644,000
J| 95,057
< 55,000
s 125,943
TAIEHI &2 920,000 286,000 634,000
= 644,000
J| 95,057
< 55,000
s 125,943
01 A& HI 815,000 286,000 529,000
Ostel NAX 7 sHEOISol=S FHIAY
815,000,000& * 1JH A 815,000
= 644,000
J| 95,057
< 55,000
s 20,943
02 Zeltl 100,000 0 100,000
Ostet NAXF sHEDNS ot=% FUHIMZ
22l tl 100,000,000& * 14 100,000
03 AIE S THHI 5,000 0 5,000
Ostdt XAX7 sHENSSH=S EHIALS Al
A0yl 920,000,000& * 0.5434% 5,000
=& 0P (2EH) sHE0ISot=E FHIAMY 242,000 286,000 A 44,000
= 169,000
J| 24,957
= 14,000
s 34,043
401 Al HIZ 201 Y| 242,000 286,000 A 44,000
= 169,000
J| 24,957
S 14,000
s 34,043
01 A& HI 210,500 286,000 275,500
O [AI&HI] 210,500
028 OlEXP(2HH) sHEONS6t=E F
HI At 210,500,000& = 1JH A 210,500
= 169,000
J| 24,957
= 14,000
s 2,543
02 2eltl 30,000 0 30,000
O3% Ot&EXIF(2H) s E0ISot=T FHi
AR 2 eldl 30,000,000& * 1A 30,000
03 Al 2 THHI 1,500 0 1,500
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SA SETARA
HE: o4E 2el
Sl S0E OISO T FHIMY(GHHE2IIY) (B9 ®R)
(o
SN BA(SA) - MRAY - BES 0l &t o il HImEET
O3% Ot&EXIF(2H) sHEOIScH=S FH
M AlE SO 241,000,000& * 0.622% 1,500
AME 2SR FF sHEOSot=E EH ALY 300,000 0 300,000
= 210,000
= 18,000
s 72,000
TAIEHI &R0 300,000 0 300,000
2 210,000
< 18,000
2 72,000
01 Al&HI 300,000 0 300,000
ONZE BATT SHENSOH+E FH AL
300,000,000& * 1JH A 300,000
= 210,000
< 18,000
s 72,000
olelbl (st+==321¢) 40,000 40,000 0
ol Bl Bl 40,000 40,000 0
801 ol I 40,000 40,000 0
1 erolditl 40,000 40,000 0
Oollglbl (St=% AL 0l &)
20,000,000& = 14 20,000
Oollgibl (ot=% X 0il&H)
20,000,000& = 14 20,000
HE2IAZH (=T AL L) 5,910,865 5,086,848 824,017
olEI(A+E)(4xE301g) 3,072,881 2,658, 199 414,682
ol A 3,072,881 2,658, 199 414,682
101 @124 dl 2,573,657 2,185,876 387,781
01 2= 1,353,009 978,742 374,267
oPIea] 927,925
053(2958) 4,940,500& = 12l « 12& 59,286
06=2(3258) 4,398,890 = 72 » 12& 369,507
073(2958) 3,919,190& =« 8921  12& 376,243
og=2(rss) 2,231,190& = 3¢ » 123 80,323
09243 8) 1,773,580& » 221 = 12& 42,566
od2=< (18,72 ,50%)
927,924,000 /128 * 50% * 23l 77,327
OJX&E=E 41,520
O i< Xt 40,0003 = 1821 = 123 8,640
O RAIN=E 32,880
o BAIE 20,000& = 5201 = 12& 12,480
o BLIIE(SEM) 60,0008 * 2001 * 12& 14,400
o PLINZF(AM) 100,000& = 501 128 6,000
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SA SETARA
E: HH2YAY (SEAYL)
el lE2H (AE)(d=E3018) (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
o&IIZHE=+Y 20,640
O 204 0l &f 100,000& * 1221  12& 14,400
O 15401 & 80,000& = 221 » 12& 1,920
O 104 0l &f 60,0003 = 621 » 123 4,320
OFJIZSE==Y FIIHMM= 3,960
O 2540l &f 30,000& = 721 « 12& 2,520
02040l & 10,000& = 12¢1 » 12& 1,440
Othss=2d=Y 10,850
O5= S 4,938,000 = 121 » 4.1% = 12& 2,430
O6=2U< 4,398,000& = 321 = 4.1% = 12& 6,492
O7=2U% 3,918,200& * 121 » 4.1% * 128 1,928
OS+=g2=¢ 32,520
Oordae| =2 (HI-&)
30,000& = 321 » 12& 1,080
Oordae| =2 (HI-1)
20,000& = 221 » 12& 480
Ot MBS+ (DYIHA)
20,000& = 321 » 12& 720
O&AS-L (= 8H &= He)
120,000& = 2121 = 12& 30,240
OB (B2E)
40,000 * 8¢l = 128 3,840
onAYRLY
4,702,000& = 121 * 9% » 12& 5,079
OAZA22Y 79,113
o6=a 12,1243 = 721 » 30AI2 » 12& 30,553
o7 10,9523 = 891 » 30AI2H » 123 31,542
O 8= 9,832& = 321 * 30AI2t = 128 10,619
0 9= 8,887 * 201 » 30AI2F » 123 6,399
OF UG A 140,000& = 2121 = 12& 35,280
OZEF Il 92,790
053 (2958 8)
4,940,000& * 121 = 60% * 23] 5,928
062(3258)
4,398,800& 721 * 60% * 23] 36,950
072(2988)
3,919,100& = 8¢l » 60% » 23 37,624
08a2(788)
2,231,000 = 321 x 60% * 23| 8,032
09243 8)
1,773,300 » 291 x 60% * 23| 4,256
O A 4| 22,165
05=2(29&88)
4,939,000 * 1@l = 86% * 1/30 » 10 1,416
062(3Rss)
4,398,500% * 721 = 86% * 1/30 » 10 8,827
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SA SETARA
B HHLAAL (STALL)
el lE2H (AE)(d=E3018) (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
072(27158)
3,919,000% * 8@l = 86% * 1/30 » 10 8,988
08=2(458)
2,230,000 * 321 = 86% * 1/30 = 10 1,918
092045 8)
1,772,0009 * 291 = 86% » 1/30 = 10 1,016
02 JIEtE B == 473,616 472,167 1,449
oPIea] 281,237
O &FZ(3155)23H014
3,936,670& = 321 » 12& 141,721
O &FZ(1655)15H014
2,932,050& = 121 » 12& 35,185
O &FZ(18&55)1540|2*
2,898,080& = 321 » 12& 104,331
o824 281,232,000 /128 * 50% * 23l 23,436
Ol=¢1] 57,168
ONE=E 13,920
o B <Xt 40,000 * 62! * 128 2,880
o RAINE 20,000& = 132 « 123 3,120
o 2LIIE(EM) 60,0008 * 621 « 128 4,320
o PLINF(AM) 100,000& = 301 * 128 3,600
o&EII2&+¢ 6,480
0 2040l & 100,000& = 321 » 12& 3,600
o 1580l & 80,000& = 12l » 12& 960
o 1040l & 60,000& = 12l » 12& 720
o 540/ & 50,0003 = 221 » 123 1,200
O &EJI2H FIIHA3 960
o 2580l & 30,000& = 221 » 12& 720
0 2040l & 10,000& = 221 « 12& 240
OS=g2R=E 10,080
o B¢ 120,000& = 7¢1 = 12& 10,080
O A2t 2222 (I 2 10Al 2H+Z 12041 2F) 25,728
o HAAE (3152 )234 Ol4
11,0913 = 321 = 30AI2t = 12& 11,979
o HAAE(1652)154H 01 &
10,080& = 121 = 30AI2t = 12& 3,629
o BAZE (18 =3)154 0l
9,370 = 321 » 30AI2F = 123 10,120
OlFdz4ldl] 11,760
O ZAHZAlH| 140,000& = 721 = 12& 11,760
O[¥E&ItHl] 28,123
O &#Z(3158)23401 &
3,936,400& = 32! * 60% * 23| 14,172
O &#Z(1628)15401 &
2,931,600& = 12! = 60% * 23| 3,518




SA SETARA
HM: HY2HAH (TS AIEA)
ol QIR (M4E) (42T BIIQ) CEEEED
SN EB S (3H) - NBAY - B2 ofl &t o SSa HDE2
O =& (182) 15802
2,897,800& * 321 * 60% * 23] 10,433
O[H 2 AtHI] 12,598
O FA(3152)23E 0|4
3,936,300 * 321 « 86% * 1/30 » 15 5,078
O&FZ(1622) 1540l &
2,931,500 = 321  86% » 1/30 » 15 3,782
O &HA(185=) 15 Dlct
2,897,600 = 321 « 86% * 1/30 » 15 3,738
O[HLsAH|] 13,260
OZXSEXHI(HA) 155,000& = 301 » 128 5,580
OZXSEXHI(FE) 145,0008 = 401 » 128 6,960
OFHJIZE &G 30,000& * 2021 =12& 720
OEXHIEL24L8 E=Hl 80,0008 = 72 = 12& 6,720
ongsd 434,250,000 * 1.5% 6,514
OFIAHZE W=s0H| 100,000 = 892! = 5& 4,000
OFIAIE 2=
20,000 = 891 % 152 * 128 28,800
03 ZL=(RIHM) 222~ 747,032 734,967 12,085
oJNz3 2,167,485& * 1621 = 128 416,158
OFSF=y=] 2,167,430 = 16Q1 » 50% * 23| 34,679
OFHIZLH (I Z) 50,000& = 169!  12& 9,600
OFMZ A 160,000& = 1601 = 12& 30,720
o< 70,000& = 1691 = 12& 13,440
OExgR4 120,000& * 1621 = 12& 23,040
OY&EFIIHl  2,167,450& = 1691 * 75% x 23] 52,019
OINEsx< 23,040
O b < Xt 40,000& = 1291 = 12& 5,760
(OR=Rel )= 20,000& = 3291  12& 7,680
OBAINES(EM) 60,000 = 102 = 12& 7,200
OBUINE(AM) 100,000& = 2921 = 128 2,400
OAZtA2 245
22,1403 = 5AI2F = 1601 = 128 21,255
O x4 118,080& = 1691 * 18 34,008
O3 0| 100,000& = 132 * 12& 15,600
O=20dZ282 672,775,000 * 4.5% 30,275
O z2gdasse= 672,768,000& * 3.9% 26,238
olnsEged=2 672,730,000& * 1.5% 10,091
OMMMEE = 672,770,000& = 1.021% 6,869
204 &R = A Y| 66,600 66,600 0]
01 XS RHFH| 1,200 1,200 0
O&XMI PR 100,000& = 121 = 128 1,200
02 238 4| 40,440 40,440 0
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SA SETARA
HM: HY2HAH (TS AIEA)
SRl QIS UH (MAE)(HFERIIY) CEEEED
SH-HH . B(SH) - HBAMY - B2 ofl &t o SSa HDE2
O[22 xHl] 40,440
053 250,000& * 191 = 12& 3,000
062 165,000& = 721 = 128 13,860
o732 155,000& = 892! = 12& 14,880
082 145,000& = 2021 = 128 3,480
092 145,000& = 392! = 12& 5,220
03 SEYREHI 24,960 24,960 0
OEFHIRAEHYI 24,960
OO0lat, HS Z2A REEY +HESH|
80,000& = 32 » 12&€ 2,880
ORI UAEY 3 =H|
80,000& = 12 = 12&€ 960
OZ3¥EIIEY £HE=H|
80,000& = 12l = 12&€ 960
OBIILEAKA SEHLR-HESH|
80,000& = 2121 * 12& 20,160
304 A=282H=2S 432,624 405,723 26,901
01 282 354,148 327,390 26,758
@)= a= = 2,012,210,000& = 9% 181,099
oegd32 2,012,199,000& * 4.9% 98,598
O &g 3 2,012,200,000& = 3.5% 70,427
OMlEaAR"E2 2,012,000,000& * 0.2% 4,024
02 201AH2d2s2 78,476 78,333 143
o9 zseE=z 2,012,200,000& * 3.9% 78,476
oladdH|(ol=S)(at4=E201Y) 2,251,763 1,864,753 387,010
ol 2AH| 2,251,763 1,864,753 387,010
101 2121 d| 1,754,795 1,431,650 323,145
01 B2 1,197,444 878,842 318,602
(OPIE=3=1 799,940
06=(325=2) 4,398,900 * 591 « 12& 263,934
o72(285 =) 3,885,500& * 621 = 12& 279,756
082(163 ) 2,928,280& * 401 = 12&€ 140,558
093 (62 ) 1,928,200& * 5021 = 12& 115,692
odz2x=g (1€ ,7€ ,50%)
799,940,000 /128 * 50% * 23] 66,662
OIs< 37,680
O Hi & Xt 40,000 = 16921  12& 7,680
O 2YItH 30,000
o RLIE 20,000 = 5291 * 12& 12,480
o RELINE(SM) 60,0008 = 1601 = 128 11,520
o BUIE(A M) 100,000 501 x 128 6,000
OoO&II2544 17,640
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SA SETARA
B HHLAAL (STALL)
¢hel: A2 (Gl+=Z)(t+=E201Y) (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
02040l & 100,000& = 921 » 12& 10,800
O 154 01 &f 80,000& = 401 » 12& 3,840
O 54014 50,000& = 521 » 12& 3,000
OFIIZs=E FIItt=s 2,520
O 2540l & 30,000& = 621 » 12& 2,160
O 2040l &f 10,000& = 321 = 123 360
Otz 14,896
O6= U=
4,398,400& = 621 = 4.1% » 128 12,985
o772 U=
3,884,000 = 121 » 4.1% * 12& 1,911
OEx=gesd 1,800
oOdI(H) 30,000& = 121 « 123 360
O &HII(R) 20,000& = 32 » 12& 720
O DAIA 20,0004 = 3¢ « 123 720
OX¥el=¢ 34,560
Oot+=% 120,000& = 401 = 123 5,760
Odt=Xzel 150,000& = 1621 = 12& 28,800
ORIgz2e2(l=Eot=)
50,000& = 162! = 12& 9,600
OAZA22Y 75,635
O 6= 12,1243 = 501 » 30AI2 » 123 21,824
o7 10,9523 = 691 » 30AI2H » 123 23,657
o8z 9,832& * 491 * 30AlI2t = 128 14,159
0 9= 8,886 * 501 » 30AI2F » 123 15,995
OF UG A 140,000& 2021 » 12& 33,600
OZEF Ol 79,993
062(32&8)
4,398,800 = 52! * 60% » 23l 26,393
072(27188)
3,885,400& * 62! * 60% * 23| 27,975
082 (1688)
2,928,100 = 491 x 60% * 23| 14,055
09245 8)
1,928,200& * 501 x 60% * 23| 11,570
OS2 &l 22,918
062(Rss)
4,389,900% * 5Q1 = 86% * 1/30 » 12 7,551
072(27188)
3,885,500% * 621 = 86% * 1/30 » 12 8,020
08=2(1688)
2,928,300% * 491 = 86% * 1/30 » 12 4,030
09243 8)
1,928,200 = 521 * 86% » 1/30 * 12¢ 3,317
02 JIEt A2+ 557,351 552,808 4,543
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SA SETARA
B HHLAAL (STALL)
¢hel: A2 (Gl+=Z)(t+=E201Y) (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
oJles 333,218
HH(1628) 1540014
2,932,100& = 121 » 12& 35,186
O HA(0z2) 15408
3,104,500 = 821 » 12& 298,032
o824 333,217,200 /128 * 50% * 23l 27,769
Oo=¢ 46,200
ON&E=E 23,520
o i <Xt 40,000 * 8¢l = 12& 3,840
o RAIE 20,0003 = 35Q1 » 123 8,400
o 2LIIE(SEM) 60,0008 * 921 » 128 6,480
o PLINZF(AM) 100,000& = 401 « 128 4,800
o&EII2&+E 6,360
o 1540l & 80,000& = 12l » 12& 960
o 1080l & 60,000& = 5¢1 « 123 3,600
o 5E 0l & 50,000& = 321 » 12& 1,800
C&EJI2&+E FIt itz 120
0 200l & 10,000& = 12l » 12& 120
OS=glR=¢ 16,200
o Hadxg(ot=Heal)
150,000& = 991 = 12& 16,200
OAtZ2ex% 30,619
OBAYE(165) 15H0/4
10,0833 = 1Q1 = 30AI2 » 12& 3,630
O FAZFE (205 s) 154018t
9,371& = 82l * 30AI2t = 12& 26,989
O A A 140,000& = 10Q1 » 12&8 16,800
OZEF Il 33,323
O&HH(16E83) 1548014
2,932,100& = 12! = 60% * 23| 3,519
0 HA(2022) 1500
3,104,500& = 82! = 60% * 23| 29,804
OS¢ &l 9,553
O&HZ(165S) 154014
2,932,1009 = 121 = 86% * 1/30 * 12¢ 1,009
O HZ(22&8) 1540/t
3,104,500 = 82! = 86% * 1/30 * 12¢ 8,544
OHJAZE Bt&E == 30,0008 * 22! = 124 720
O&g x| 145,000& = 921 = 12& 15,660
OEdgIHE&SHl 80,000& » 921  12& 8,640
ons=d 523,202,000& * 1.5% 7,849
OHAAE DSROH 120,002 » 99! « 52 5,400
OB AL 0fY|
20,0003 = 9@l = 10& ~ 123 21,600
204 MR FH| 55,920 53,220 2,700
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2N
X ZH -
L= B

el

S MG A
B2y
= 2 9l (3t

SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
02 2g 2 Xl 36,720 34,980 1,740
o6= 165,000& * 521 = 12& 9,900
o7=a 155,000& = 621 = 123 11,160
Ok =1 145,000& = 421 x 12& 6,960
O9= 145,000& = 501 = 123 8,700
03 EZ YA 19,200 18,240 960
O3JISLENK SFER+ 24|
80,000& = 200! « 123 19,200
304 A=3RE=S 441,048 379,883 61,165
01 A3 EE3 359,527 306,539 52,988
OFuE= == 2,090,264,679%& * 9% 188,124
OedZ 2,090,264,679& * 4.5% 94,062
O A+==Z2g3 2,090,264,679%& * 3.5% 73,160
OMt2a=2E 3 2,090,264,679% * 0.2% 4,181
02 2QALESES 81,521 73,344 8,177
Oodz=2E= 2,090,264,679% * 3.9% 81,521
|2l (&=Z)(&4+E301Y) 218,527 218,526 1
Jl=&l 218,527 218,526 1
201 £B-2dH| 184,767 179,766 5,001
01 At 22/l 118,955 118,955 0
Oolger=&tl] 45,459
OJlz MRESHI 50,000& = 30& * 23l 3,000
O&EAZe 237 50,0008 * 8& = 102 4,000
O=AD|, A Dy &Y
100,000& * 58 * 23| 1,000
OHIE =&t 100,000& = 38 = 33l 900
OZHEAI EH ABF FHI
320,000& = 5& = 23| 3,200
OZU=EAMNI EY HE A2F FH|
340,000& * 5& 23] 3,400
OmA T2l EWH(EY)FR LI
300,000& * 5& « 23] 3,000
OZ ZelH EH YL 72,250& * 45 289
OZeol ZEl &g 2l
180,000& * 1& 13l 180
O =AEX 7l
26,0003 = 1024 « 103 2,600
O2ANEHEE A2F FH|
100,000& = 58 * 23| 1,000
O&==k OatA eIafHl
20,0003 = 508 * 43| 4,000
Oa=E ZAAN AMH|
50,000& = 508 = 13l 2,500
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SA SETARA
HE: HYRIFH(LTAYL)
S JIEFH(MAE)(MEEBIIY) (B9 ®R)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
OANgEA HE KAl
4,000,000& = 1A 4,000
0271 H&sAH T2 S22
9,360,000& = 1A 9,360
O Herete & HAAMAL T2 S22l
417,000€ = 12&€ 5,004
O[Xt&FA e ] 31,602
oOXEd FEU(ER)
1,424 5 = 2704 =~ 504 = 12€ 23,077
O X =H&H| 350,000 * 500 * 33| 5,250
OXE ARE R 300,000& * 501 = 23] 3,000
OXE HIEBA =2
55,000& = 508 = 13 275
202 04d| 27,840 27,840 0]
01 2Ll 27,840 27,840 0
LTHPY ARET off)
20,0008 * 621 = 10 = 12&€ 14,400
O 2t e ol
120,000& = 721 = 10 8,400
OB+xH2lY A2ET ol
120,000 = 721 * g 5,040
203 R F & 5,920 5,920 0
02 AAAJPAAH 2 =XY| 1,720 1,720 0
OF|IAtE 2 F=&H| 40,000 = 43¢l 1,720
04 FEASHELIFFEH| 4,200 4,200 0
OEMSY g4l 350,0008 ~ 12€ 4,200
Jl2ddl (6t E) (ot =&201¢) 367,694 345,370 22,324
Jl2 &4l 367,694 345,370 22,324
201 gBt2Ad| 353,334 329,050 24,284
01 AP 22| H| 175,628 175,628 0
Olget24] 27,100
O Z2J1g ot 0l &AM AHH|
30,000& = 508 = 43| 6,000
O2J|Y 6t=% ZAA oAbl
50,000& = 508 * 13| 2,500
OANRE ABE 12|
20,0008 x 5& x 123 1,200
OILglH £=&HI 80,000& * 2 x 23| 320
OILZZHEY =& Y|
330,000 * 2& * 33| 1,980
O=2AIEX 2LH|
26,0003 * 10BfA * 103 2,600
OZ2JE3H Z2AM2LA =2
9,000,000 = 14! 9,000
0GB L& =2 50,000& = 2024 1,000
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SA SETARA
B AU (STALL)
eel: J23dl(ot=2)(at+==301Y) (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
ONZZIBJSEI DBUEE 2N 25
= 2,500,000& = 13l 2,500
Olfgn=|yl] 1,800
Oot=x HR2&H AEW=H|
300,000& = 62l 1,800
oeg+¢] 143,400
O (L a5 HE)
60,000& = 501 » 113 33,900
O =2l 60,000& = 521 = 365¢ 109,500
Ol=&Htl] 3,328
0371 Ol&(Zah) HAT Sl
8,000& = 401 » 20 640
Oct=E HRFZA Z4lHl
8,000& = 401 + 7 « 12)H& 2,688
02 =24l 177,706 163,422 24,284
OlBs22LHA] 117,460
OXsx EEE 600,000& =« 8CH 4,800
O XS XA 300,000& =« 8CH 2,400
OXtsxt M 2= 212,000& = 504 1,060
O& - ot+=% Ealtl(at+%)
4,200,000& = 13l 4,200
Odt+=& AEE Ed4 23
3,500,000,000& * 3% 105,000
O[AM&EHI R XYl 9,500
0371 dt=% OatgH T3 X2
9,500,000& * 14 9,500
O[xt&setyl] 50,746
OXE RFTU(ER)
1,424 53 3004 * 8CH = 12& 41,026
O Xtg ==« Hl 400,000 =+ 8CH = 23 6,400
OXHE A28 7Y 100,000& « 8CH = 33l 2,400
OXg HIIHA =2
40,0002 = 8CH * 13l 320
O S& &l =2yl 200,000& = 30H 600
202 O4dl 9,600 9,600 0
01 = LH YI 9,600 9,600 0
OZ2UHLEHAYI] 9,600
Odt=& FRF& 0ot
20,0003 = 491 = 10 » 12& 9,600
203 &2 = X b 4,760 4,720 40
02 3t =2 1,160 1,120 40
OF AL R Z= A 40,0003 = 29¢0! 1,160
04 FEANSEHE=LH 3,600 3,600 0
ORN2EYRF=AHI 300,000& = 12& 3,600
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